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Ty
DMLY - - - - - Net2ar 2y 23.556.304 | 21.2 23.701.389 | 21.3|  A145.085
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TSR - - - - N EEE 1,508,324 | 1.4 - - 1,508,324
Ty
R TLAF [ 2F
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IS g - - - - - E%IUH 6.907.790 | 6.2 8.695.677 | 7.8 | ~1.787.887
SEsAs - - - _ _
DES A S _ _ _ _ _
" 111,019,071 | 99.7 |  110.875.462 | 99.7 3o | = A 111,298,233 | 100.0 111,154,624 | 100.0 143,609
TRERE] " orarg ol i - - - )
e 279.162 | 0.3 079.162 | 0.3 =
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AR 111,298,233 | 100.0 | 111,154,624 | 100.0 143,609 | Z5 5 = ¢ 111,298,233 | 100.0 | 111,154,624 | 100.0 143,609

3/125




A = 0O & A

(2023 038 01LRH 20243 028 292 tXl)

1. ¢ (Etel: el
o = 20233101 | 20233 H ST —
- - — 4REZ ol | 3R oo | OO EE 2
& g = (A) (8)
5100 SSE==¢¥ 108,907,420 108,829,482 77,938
5110 S=E==¥ 108,907,420 108,829,482 77,938
2293
g -
5112 674,620 674,620 -
etdgs= e MFAMEY SE= BAM F2>
—JISUHZHSE SA 18Xt 620,000 x42H 26,040,000
—JISUAEZUHSA A 25X 620,000 1 620,000
—JISUHZ A AAF 38Xt 620,000 %1 620,000
—JISudEUSE HA 38MAF 620,0008 1 620,000
—JISUHZHEA AAF 48X 620,000 x2H 1,240,000
—JISudEUSE &A1 R 830,000 %928 76,360,000
—JISUHZHEA 2FAF 38Xt 830,000 6 4,980,000
—JISWEEUSE A 457 830,000 1 830,000
—JISUHZ A 2HAF 65X 830,000 x4 H 3,320,000
—JISudEUSE S AL 1SR 830,000 5 4,150,000
— PSR A AL 181Xt 620,000 %108 66,960,000
— Alstiista HAH 15X 620,000 %2918 180,420,000
—alsttist@ HAF 2R 620,000 x6 S8 3,720,000
— AIstiista A AF 35X 620,000 *6H 3,720,000
— Astiist@ A 45X 620,000 *3H 1,860,000
— A MASIISE A 188X} 620,0003«17E 10,540,000
— WSt A 15X 620,000 *783 48,360,000
— WSS A 35X 620,000 *1H 620,000
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— AXFEZ Ol AH | BXIZ of Arod < A= 2
& g = (A) (B)

— SHE XIS AAF 18X} 620,000 +38 23,560,000
— A ERR A AR 18X 620,0003 %1559 96,100,000
— ASHHBHY A AL 28HE} 620,000 #4 X 2,480,000
— MEHEHR A AL 38X 620,0003%2H 1,240,000
— 230 HE Y A AL 18X 620,000 +41 05,420,000
— 230l=0std S A 1S 620,000 *x12H 7,440,000

@ Hstel 28t)| olsta
—JESNNIUSA &AF 28K} 620,000 +1H 620,000
ﬂ%u@% A AF 38X 620,0009 %12 620,000
MSOsHA AR 18X 830,000&«12H 9,960,000
- J|EWIEH%4% BFAF 28t 830,0009 %22 1,660,000
S A 38X 830,000&3*1H 830,000
_IU@% BFAF 63t 830,0009 *3% 2,490,000
S A8AF 18X 830,000& *3H 2,490,000
—JISDESHEY ABAF 65X 830,000+ 1 830,000
— UBHEHRA A AF 18X 620,000 100" 62,000,000
— AIBHCHBHR A A 28HE} 620,000 #5 L 3,100,000
— AMSHIHEHR A AF 38HXF 620,000 +1H 620,000
SR BHRl A A} 48HXH 620,000 +3 1,860,000
BAEXIHEHA A AF 18X 620,000 «5H 3,100,000
— AFTHHBHE A AL 28HE} 620,000 #4 Y 2,480,000
— MEHEHR A AF 38X 620,000 +1H 620,000
— AEHHEHE A A 5EHEF 620,000 x2S 1,240,000
— 230l=Ustd A AF 28X 620,000& x4 H 2,480,000
@ UEI2E0H (SIAS=E25|H (et sS=222 O ~13,600,000

B 674,620,000
511 88,083,290 87,986,360

34,984,494,000
29,340,142,000
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- e = (A) (B)
—ASHY S=E2 49 1,532 6,754,242,0002 6.754,242,000
—HsSHE S=E2 49 3,671°Y 16,702,192,000 16,702,192,000
© 2ELE SHASHE 2%
— ®MEFE| 2912 90,00021%1115H 9,990,000
— SUH5H)| 2212 90,0002 %1005t & 9,000,000
® HEEII2Y
—BIH HEEI| 222 90,0008 %9705 & 87,300,000
—SHAHEEI| 22 90, oooom 1008t & 99,000,000
BO2H 8 S=25H B1-1-2 M2 B DS
220X SFISHE 2% 7 470,000 7,470,000
BO2H S8S=25H B1-1-2 M2 HDS
—EHAHESI| 22 89,460,000% 89,460,000 &
83i:| 88,083,290,000 &
20,149,510 20,168,502 ~18,992

Gk HERAE E=3 Bx>
—JlEnES(E %} 3,770,0008 x42% 158,340,000 &
—JlEnESHE X} 3,670,000 x2% 7,340,000 &
—JESDA2E % 3,670,0002 %1% 3,670,000 &
—JlEnESHE X 3,670,000 *39% 143,130,000 &
—JESDA2E % 3,670,0002 %1% 3,670,000 &
—JlEnESHE X 3,670,000 12 3,670,000 &
—JESDA20E %} 3,680,000 x5 18,400,000 &
—JlEnESHE Xt 4,550,000 x92 % 418,600,000 &
—JESDA20E Xt 4,432,0008x20% 88,640,000 &
—JlEnESHE Xt 4,432,0002 73 323,536,000 &
—JEnN2Hs %t 4,432,000 6 26,592,000 &
—JEnHSHE %t 4,440,0002*9H 39,960,000 &
—JEnA2E Xt 4,440,0009 %1% 4,440,000 &
—JlEnEE %t 4,440,00021 67 297,480,000 &
—JEnA2E %} 4,363,0008 %21 91,623,000 &
SRS s %t 4,550,000 815 22,750,000 &
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= 202331 HE | 20233 H T = A 101
— AZIED Ol AP | BRI Ol At e AEDN 2

= g = (A) (8)
— 2A= XIS A AF 35H A} 4,381,00024 %362 157,716,000
— BASXUSHE A 45X 4,440,000 *5H 22,000,000
— A XIS R A AF 555 R} 4,440,0009 #4202 184,800,000
— AFCITHENR A AL 1BHR} 4,500,000 %1559 697,500,000
— AFCITHBHRl A A} 28H R} 4,381,000 «6 26,286,000
—AEER 28Xt 4,381,000 x4 H 17,524,000
— AEiE 38' %} 4,381,000 %138 604,578,000
— AEER 38t Xt 4,381,000 *2H 8,762,000
— AFCHIHBIRl A AL 4BHR} 4,440,00020 %18 79,200,000
— A SR A AL 58HXEF 4,440,0003 %129 567,600,000
— 25025 A AF 1857} 5,500,0008 %41 225,500,000
— 230l=Usd A AF 1S 4,500,000 «12H 54,000,000
— 23510125 A AF 38H R} 5,337,0009 %422 224,154,000
— 230l=Ustd S AF 38X 4,325,000 *3H 12,975,000
— 2510 2SR A AF 45H %} 5,357,0009 %0 48,213,000
— 230l=Ustd S AF 58X 5,357,000 *32H 171,424,000
— 23510 2B R A AF 55E X} 4,344,0009 %3 13,032,000
@ §&rel 28t0| 2912
—JSDNSEY A AF 25K} 3,770,0009 402 150,800,000
—JISUNMIUERA AAF 28X 3,770,000 *x1H 3,770,000
—JSDHSYEY A AF 35X 3,670,0008 %7 25,690,000
—JISuUNE & A AF 38X 3,670,000 +1H 3,670,000
—JSDHSEY A AF 45H %} 3,670,0009 %352 128,450,000
—JISuUNE 2 8FAF 18X} 4,550,000 «12H 54,600,000
—JSEDMSYEY BHAF 25H X} 4,550,0009 %722 327,600,000
—JISuUNE 2 8FAF 28X} 4,550,000 %2H 9,100,000
— S DHSYEY BHAF 35H R} 4,432,00090 %192 84,208,000
—J|snHA 21 BEAF 38HR} 4,432,000 %1 4,432,000
—JEDA 21 BEAL 48t R} 4,432,000 «67H 296,944,000
—J|sDnA 91 BEAF 58H R} 4,440,000 «82 35,520,000
—JEnA 21 BEAL 68H X} 4,440,000 +49H 217,560,000
—J|SDA 21 A BEAL 18t R} 4,550,000 «3% 13,650,000
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= g = (A) (8)
— IS DHES0EY ABAF 28t} 4,550,000 <6 07,300,000 ¢
—JSDNHIOSHA ABFAF 38X} 4,432,000 4 17,728,000 &
—J|SDHSYEY MBEAF 48R} 4,432,000 <42 17,728,000 &
—JSDNHS0YEHY MEEAL 53R} 4,440,000 <4 17,760,000 &
—J)SDHSYEY SBEAF 68X 4,440,000 x5 02,200,000
—JSDNHIUSHA ABFAF 68X 4,440,000 +1H 4,440,000 &
—J)|SDHSYEY MBEAF 78R} 4,363,000 x5 21,815,000 ¢
—JESNNIsHA ABEAF 88X 4,363,000 +10H 43,630,000 &
— UBHHEIR A AL 18R} 5,200,0002%100 520,000,000 &
— Ut ard A AF 28Rt 5,200,0003 %1009 520,000,000 &
— UBHIEHR A A} 48HR} 5,200,000 +82 41,600,000 &
— dlatthard A AF 28Rt 4,050,0003 %2999 1,210,950,000 &
— AIBHIHBHRl A AL 28E R} 4,050,000 x5 20,250,000 ¢
— AESHEHRA A AF 38HXF 3,945,000& %20 78,900,000 &
— AIBHIHEHR! A A 3BHR} 3,945,000 %1 2 3,945,000 2
— dlatthard A AR 48Rt 3,945,0003%271H 1,069,095,000 &
— AIBHIHBHR! A AL 4BHR} 3,945,000 x32 11,835,000 &
— ASHHEHRA A AL 58HX}F 3,965,000@ x15Y 59,475,000 &
— AIBHIHEIRl A AL 6BH R} 3,965,000 %220 872,300,000 &
— pISHIHSHR A AL SR} SEEEE 8,294,000 &
— AR AIBIYEI A A} 28H R} 4,500,000 %17 76,500,000 &
— AFMAMESHSHRA A AF 3SR 4,317,000%*1H 4,317,000 &
— AR AIBIEIRl A A} 45E R} 4,317,00090 %162 69,072,000 ¢
— AMABHYEIR A Al 5BHR BIRES 2,616,000 2
— DS AA 288X} 4,500,0002 %70 315,000,000 2
— WA A A 38X 4,317,000 x7H 30,219,000 &
— DS AA 48H %} 4,317,000 %59 054,703,000 &
— DS MAL 58X} 4,337,000 <42 17,348,000 &
— DS MAL5EIR} SIS E 2,132,000 &
— 2AZXIER A AF 185X} 4,500,00090 %5 22,500,000 ¢
— BHSXEY A AL 25H R} 4,500,000 %37 166,500,000 &
— 2= XIS A AL 35EX} 4,381,00090 %5 21,905,000 &
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= 20233 AT | 20233 AT = ot
~ ¥ — 4i+—’7‘—%’A)01I&‘L“ 3i+—’7=—%3'8)01l&°—-" “A-8 AED =T
—E2A=sXUs= 43t Xt 4,381,0003 %359 153,335,000 &
—BASXOUsHA 58Xt 4,400,000& *3H 13,200,000 &
— AMYER A X+ 4,500,000& %1409 630,000,000 &
A GEd AA Xt 4,500,000& x4H 18,000,000 &
A ETHSIRA AA Xt 4,381,000 1 4,381,000 &
Agied AA X 4,381,000 *1H 4,381,000 &
A ETHSIRA A A X+ 4,381,000&*130Y 569,530,000 &
Agied AA XF 4,400,000 *23H 101,200,000 &
A E SR AA X+ 4,400,000 *2% 8,800,000 &
— MG AA i SESE 1,063,000 &
—23tol=Usra 28Xt 5,500,000 *39H 214,500,000 &
—=Zstil=U= & 28Xt 4,500,000 »8H 36,000,000 &
—=2St0I =S A AF 28HX}F 5,500,000 % *4H 22,000,000 &
—=3t0=sHA A AL 38HX} 4,325,0003 *2H 8,650,000 &
—23t0l=Usrd A A 48Xt 5,337,000 «27H 144,099,000 &
—=Zstil=U=& 48X} 4,325,000& x4 H 17,300,000 &
—Z30l=Us 58Xt 5,357,000 *5H 26,785,000 &
© RS A D) 22 S
—35%*90,000& *3Z Zt*x2 I & D] 18,900,000 &
@ ERESH (2 RS=23) (RS2 Re C 751,902,000 &
HUSAS2H SE3H HsAsE32el U -18,992,000 &
gt 20,149,510,000 &
A Ol — —_ —_
5121 - -
CH| 42t
BH: - 9
5200 & & = = =
> - - -
5216 - -
nhee3
BH: -
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—&=< 1,510,000,000&
© FEZSALAHIA

el E%/\F/H HIA 100,000
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o = 20233/ MM E | 20233/H S —
ARIETD Ol A | 3K ol A Soco = =
2 g = A) () G
1310 8 DA KHAHIH 2t 49 5,348 3 5,345
1311 & XIOH 2t - - - BHI: - =
1312 212002404 - BHI: - =
1314 1,607 1 1,606
DI D1 7200 24 CH © B=EEX 1,000 1,000 &
HE2X WSES23H SEMMTAL 22| I HIIS
—JIH1217 0§12 42 1,606,0002 1,606,000 2
BHI: 1,607,000 &
1315 1 1 -
X O|HIZ 0024 © B=2EX 1,000 1,000 &
BHI: 1,000 &
1316 1 1 -
X2k ek Ol 2¢O © B=2EX 1,000 1,000 &
BHI: 1,000 &
1317 3,739 - 3,739
HCAZ SSE=225H Al-2-4 THBISLASH 3,739,000 &
= AT OH2ETH
BHI: 3,739,000 &
NEEXEEE] 111,019,071 [ 110,875,462 143,609
INESINEREIE 279,162 279,162 -
1100 )| ZQ S KHAF 43,025,245 43,225,245 -
1110 42,258,456 42,258,456 -
SIS @ NP WS S=2257 0IAZ0 82 SEN2 14 34,440,462,000 &
@ HSAZ2H HSASZ23H DIAZ0EXN2 BY  7.817,994,000 &
B3:| 42,258,456,000 &
1120 966,789 966,789 -
@ 2 Wt S2235|2 0IAZ0IZE X2 JIEISS A 963,399,000 &
@ HSAZ2H HSIASZ=Z5|H 0IALZ0IR X2 JIE 3,390,000 &
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= 20233 HHE 20233 HHE =
AR oo | 3xEa gaes | S R 2o
% 2t s ) 8) (
IEIRsS
gl 966,789,000 &
=2 42,946,083 42 946,083
2120 69,935 69,935
o2 OIAIZ20IE X2 W2 1XF: 65,483,000 &
Z2Z23H 0IAIE01 & F% 04l < 4,452 000 &
gl 69,935,000 €
2130 41,816,213 41,816,213
HE=2 OIAI20|18 X2 842 1 X} : 34,157,573,000 &
23 H 0IAIE0IE X2 Hd= 7,658,640,000 &
gtH: 41,816,213,000 #
2140 1,059,935 1,059,935
JEIRSEX 2 HSES=E2Z23H 0IAIE20I8 X2 JIEIRESEX 1,059,935,000 &
2[5 1,059,935,000 &
= = e = H 111,298,233 111,154,624




A =

Ol

& A

(20234 03& 01L2E 2024E 028 292 NtXI)

(Bl &)
o = 20233 9T | 20233A ¢S = ooy
— AXIZZ O AFY | 3XIEZ O AroH T & 29
g = (A) (B)
57,702,020 58,515,704 813,684
4110 B 2 43,457,059 44,452 465 995,406
04,194,727 04,474,727 280,000
<K MBS QAU A Al
@IEAZ X
—DZ 0 24,474,727,000 04,474,727,000 &
WOARA (B S=25 |30l ) ~280,000,000 &
I 24,194,727,000 2
4112 1,663,918 1,663,918 -
DA < NEHE QIAHI A Al =
@IEAZ XIS
—DANZ 1,663,918,000 1,663,918,000 ¥
B 1,663,918,000 &
411 10,851,647 10,997,824 A46,177
e < NISLHE 0124812 Al A
® LIS 2 A}
— AFBHEFD| 32%100,000 972 2,100,000 &
® DR
— MUDYE DAL 35,0002 «330A| 2H+15Z= #2587 346,500,000 &
—HE2DAZDAALS 35,0002 «280A| 2H1 5= %25t ]| 294,000,000 &
— AXYE 202 56,0002 +640A 2155 %25¢) 1,075,200,000 &
— =] 50,0002 60% 157 %254 )| 90,000,000 #
—HEEI| AR HAE 450002 +50Al Lx15F 425 67,500,000 &
— HEEI| AR 2 56,0002 #3Al 2x15F 28] 5,040,000 &
OIMESEIp =
—NZAALZ 350,000%2 700,000 &
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o = 2023319 | 20233A ¢S
_ AXIZZ O AFY | 3XIEZ O AroH AE2H 2o
= g = (A) (B)
—UHE A AFZ 200,000%10 2,000,000 &
—BI® A AFZ22,000,000%7 14,000,000 &
@NATLY
—22DATA 500,000%20 10,000,000 &
@IEAZ NI
— DA 8,952,744,000 8,952,744,000 €
® SANSITOIB
—S A A4 TFE JF A AF] 1,000,000+8% 8,000,000 2
© DEKAVIMEE U A2
—DAQIHEIE L ADB 1,000,000 +8% 103 80,000,000 &
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B 32,095,000 @
4219 159,935 153,030 6,905
JIEFA A& 2Btz
— A& 22IHI 800,000 1271 2 9,600,000 &
A, HARE S 1,000,000+ 1242 12,000,000 &
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- — AXFEZ Ol At | 3XIZEZ ol A T NEED 2 o
= g = (A) (B)
— RAEZE 10,0002+500% 5,000,000 &
— HZ2AS 1,700,000 +63] 10,200,000 2
® JIEFAIE HA B2
— JIHE S HA 5,000,000 %23 10,000,000 2
® NSHQ DK TABL
— AlBA EJIZ Helbl 900,000 %1274 10,800,000 &
© SHM Z22101C X 22| 4,000,000 %2 8,000,000 ¢
©® #FA S 224015 Q) 7,500,000 «2 15,000,000 &
® FEZ BHA = U AL HH(AEZ AL )
— 2 S YHYSE NP L E2H| 400,0002 %127 4,800,000 ¢
— 2 S AABRIYDE T U Y| 400,000 4,800,000 ¢
— 2t S A28 %HEDAH 580,000 %1204 6,960,000
— 2t S IS JIHES ME =l 1,000,000 1 3] 1,000,000 &
— 2} = ZO/Al U ALRAl HFSH Al ZQIH| 3,000,0008 3,000,000 &
® AlEZAIZ 22
— 2t = 283 ®AH| 1,100,0009 %23 2,200,000
— 2t = HI2H2/8] 550,000 +1274 2 6,600,000
— 2t = ®M3tx HAH| 2,300,000 <3 = 6,900,000 &
— RZEUHEE P 2,500 %3300 1 3] 8,250,000 ¢
® HE I N2A HSHAS=25|H Al-1-2 IS HA-
RS ULA22 U L E4H| 180,0002%123] 2,160,000
® S FAILDRIH HEAS=2 5| H Al-1-2 I SHA;
—ERDRA AL IHTY L E4H &2 ~2.640,000 2
AR (SIEZ25|H A2-1-1 BHADNSYIZ]
—FAIA B2| EOMER| & X 3,400,000 3,400,000 ¥
@ LISIAAI MM HSASE25|H AlLZAIL 22
—2t = HII2H2/8l 10,000,000 10,000,000 2
—2t = ®5tx HAH 15,000,000 15,000,000 2
W AEREIN (HEBS=23H AILR2IAY JIEFAI A 2 ~1,687,000 2
WA (S SE25H A2-1-1 EHAED|LIT2] ~40,000 &
B OSALREIH HEAS=25/H Al-1-2 Z18H%2 -368,000 &
B SNSRI HESFAS=25H AILBAIL 22
—gIEHE Al 0| AFHI2 S 9,000,0008 9,000,000 &
BHAI: 159,935,000 &
4200 2 Bretel | 4,003,697 4,084,848 A81,151
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o = 20233 HAH = 20233 HAH =
= AXtF=E Gl & | 3XE=Z Of AHOH MEZA = 9
& g = (A) (B)
4221 196,198 193,266
oyl Ed @ ISHMAHZ S=1S

12U IS0 =i 823

— a2 o3 0 18+1,500,000& =4I4 &Kl 6,000,000 &
ARETLASE S EF
—=gad R4 =&Y E2 40,0002 *2002] 8,000,000 &
— nAMAX A XH SHH B2 200,000&+803] 16,000,000 &
® :HII’L?JE-I 6H wWEJ|2 =&H| 3,500,000& %25 35,000,000 &
— 22 & 100, OOOOJ * 5024 = 1201 & 60,000,000 &
— 2t =& 10,0003 * 404 = 1201 4,800,000 &
@ K MoveAZ AL 3,000,000& *x53] 15,000,000 &
Ho & HSEAFY 5,000,000& %23 10,000,000 &
@ CHsfA g ts 5,000,000 x4 3] 20,000,000 &
®0 | sSH|

— &8Ot =& 75,000%2H 43| =4 600,000 &
— & =& 121,000%3H*23| _ 7% &l 726,000 &
—= &4l 2H/20,000&*8H*63| 1 StX 960,000 &
=& ¢¢ 50 000&*8H*23|_ 1 st 800,000 &
—=&4l ‘% 21°120,000&*8H*23|_nlsHx 1,920,000 &
—&OHEH 75, OOO*4 JIEl X 300,000 &
=2H] 10,000& * 59 »6 3|_ A WS IHL R 300,000 &
'— XS A (2H] 20,0002+ EH| 30,000 +41H| 2 2,310,000 &
—12e g3 1=s Ws0WH|l 23/*300,000& _E Al 2 600,000 &
—uWe & WS0bEl 43/x70000&: &t _E A2 280,000 &
—uWe & S0l 43/%x20000&: A2 AlLL_Z= M2 80,000 &
—OIMZE=H 100,000 +6Z 600,000 &
—&OtEE 60,0003 +x6H 360,000 &
—&E =& 60,0003 +6H 360,000 &
—24EE%& 200,0002+6Y 1,200,000 &
—S2 4 & 200,000&+6H 1,200,000 &
—24F & 200,0002+6H 1,200,000 &
—&3F= & 150,000&+6H 900,000 &
—&3 £& 200,000&+6H 1,200,000 &
—ZUHEH 20,0002 *55|_HSHAE2 K 200,000 &
—&Oot E E& 75,0002 x4 x23| HSIAESLH 600,000 &
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“2IZ= =X S| 40,0002 %200%120H 960,000 &
@0t LEY
—ple A A A 5] OfH| 150,000+3% D= Al 450,000 2
—IHZAR13] 0iHl 70,0003 _D 24! 210,000 2
—= oM A215] 01H| 50,000%3Y_M=2 Al 150,000 €
B OSH HEE=25H C1-3-3 W42 SHA AR R 01
—2 Qe QPA ZXH| 5,000,000 5,000,000 2
- gg%mu%&gﬂ etS=235H =-D3-1-1 H2l% ~11,000,000 &
SH HEBS=25H DI-1-1 AR ﬁjmm CEF 370,000 &
SH HEBSZ2235H SAXY OHIDSY| 4% =2 7,000,000 2
I 3|EﬂcHoMEa% HEtS=235H D1-3-4 Az 02
DISDHH SASEDR 2UHQ JISD SHEDE | 5,200,000 2
m DIETEHO“\'X*% It S=235H D1-3-4 2AZ DS/ ~1,638,000 2
BOsE0H HEAS=25|H e NI NS Y, ~2,000,000 &
I 196,198,000 &
4202 148,000 141,000 7,000
x2S Xl ® R S
2H| 450,0009 * 200 * 10 90,000,000 &
— SXBAH| 200.0008 * 200 * 40,000,000 &
® ML
2= 25,000,000 +1 T+ 21 514,000,000 + 1 CH+J| €] 11,000,000 &
BE2H (SE223H NSRAB2 282 47 = 7,000,000 &
B 148,000,000 &
4223 572,061 563,167 8,894
ADEY| @DASEHLA AADS ADEDS)| » 500,000 1,000,000 &
® SN K2 BN
—X2A A= DH 10K *750,0002 7,500,000 2
© AT MR8 ARE 2P|
—S A EI 0] Z 25021600074 1,500,000 &
—A101=231T 802« 50007 400,000 &
—HF2 S 3T 802 «5000H 400,000 &
—AH (D] 4091 «50007H 200,000 &
—2H# K| 7002 %900 M 630,000 &
—UPS HHE{2] Al 1150002 %32H 3,680,000 &
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CENESREE
— BESZ 10,0002%100 1,000,000 &
— AFDRIBE 10,0008 +50H 500,000 ¢
— ZZHE T 1,000,0008 1,000,000 &
—®MAIA2Y JIE ARE 500,000 500,000 ¢
© BACIAINIE DBRE 2P ZEH| 20,0002 %5074 1,000,000 &
© WAAIXIZ DP2Y ®AIZ MZA 150,0008 10 1,500,000 &
@ o=2Ea 2
— =S A 29 70,0002 +87H S 560,000
® =204 29
— E=R|GA ADE 450,000 %28t )] 900,000 €
©® MAZ BAEH ADE
— 3| AIE EAF 1,000,000 «3A 3,000,000 &
— =W 10,0009 +50 4 500,000 ¢
— Z&H 10,0009 #5004 500,000 &
— ®AB AQE 500,0002 500,000 &
© AZZ WRET 120,0008 %504 6,000,000
® MAI AI2EIX RIZ 100,0002%102 1,000,000 &
® MAZ BAEN ADE
- @AIE‘% AQE 1,500,000 1,500,000 &
— ®AZ EEZEZ 1,500,0002 1,500,000 &
— AR MOIZ 450,000 450,000 €
© AZE T3 20E+550,0009 11,000,000 2
@IIZSEI} HE X2
— 028 22 L E3 35,000,000 35,000,000 &
© MAXSR ADZY
— AR QE [JAT 75,0008 * 574 375,000
—AQIX| B/E(8EE) 15,0009 * 4074 600,000
—UTPHI0IZ" 75,0009 * 128 A 900,000 &
—RJ-45 HHE 20,0008 * 200H 400,000 &
® DaENA2Y
— QIMD| BRI AP E 600,000 +87H 4,800,000 &
— DAENA ADZE 60,0002 «10HA*12H S 7,200,000 &
@IESI0IALRE
—AALET HIRIE 150,000%15%2 4,500,000 &
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2 &t = (A-B)
—MEESS 22572 1,500,000%2 3,000,000 &
—HEE 212 S +8 200,000%5 1,000,000 &
@A OIALZC
—SI&T S S22 H& 200,000%20%2 8,000,000 &
© N=HOl Dsetd Lot
— WU E8A2F +&Hl 1,000,000& 1002 10,000,000 &
LDHAE AZS FIHl 1,250,0003 12002 15,000,000 &

— &, 8&, Y JHl A2 34| 2,500,000 *12HE 30,000,000 &
— MIISA A2 S 2 000,000& 124 & 24,000,000 &
— 2FRA2He] 225 24l 2,000,000 104 20,000,000 &
ON=E ZJHj°.§*7,000,0009|:J 84,000,000 &
© 224 B3 +2 65,000,000& 65,000,000 &
© Ktatetd MZHl 1,000,000 1,000,000 &
©22F 7Y
— &&30l2k 1,000,000&*202] 20,000,000 &
— Yg2RE L2235 6,250,000 6,250,000 &
© 2ANE2E]
—82AM L SR SR 2| HE AZSH| 22,500,000 45,000,000 &
© ZMtz2e
—dH= 2 225 72 10,0003 #2IH 1 200,000 &
© Hel S X LBl
—&IZ 15,0003 «12H +32IH & 2+2520,0003 124 6,000,000 &
@OA2EH
—Zeld ¥ &4 2,500,000 «12& 30,000,000 &
—S Al &4 500,000 +122 6,000,000 &
—A E14 400,000&+122 4,800,000 &
—27% S 500,000&*12& 6,000,000 &
—22 X = 300,000&+12& 3,600,000 &
—2F 2NE AE 7= 3,500,000 %284 D] 7,000,000 &
—gg = 424 25 100,000& 123 1,200,000 &
—&EA4E A2F 800,000 123 9,600,000 &
—2doad 25 1Y 4, OOO OOO%*Z@N 8,000,000 &
© ZJ|IAd=E H2 H= S+125,000& 1,000,000 &
@ JEx EH§F%§§§|74| A5 2-4 A BtE A X H & e 11,072,000 &
@ W= HSSE33H A1-1-1 ZHIIAE0LAEHSE
—Z2& .94 XY ZH A2 FH| 2,500,000 1242 30,000,000 &
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Y EEEE N EEEEEENEERNE
— S oA RO RH| ARZH| -2,500,0002 %1274 2 ~30,000,000 ¢
© BOAIT00E 2t (NI S =2 5] C2-3-1 X OICHALS
—MAl DEHE AQZE WA GADIS BHY - ~6,200,000 2
@ =27 O HEMKS ADZY| 3%} 10,000,000 2
@ AlEZ2IR =25 ALY ADE 33} 6,000,000 &
@ SHOHAI00EZ (HEHSE= 25| C2-3-1 X DICHALS
—HMAIZ EAEA AQE 204 —2 500,000 ~2,500,000 &
@ =o/ATNaT (HBS=235|H C2-3-1 Xl 0ICHAH
—MAIZ ADE Q| 2t —2 850,000 ~2.850,000 2
sl2IS=235| 3 Ad-1-1
—HNEE U OIS0 12 ARHSE QY| S 6,000 30,000,000 2!
W= s 51 Al-1-1 ZEH|AIHDIAE 28 ~89,000 &
mE2R O SIH BN ARZY| 4% = 2 5,000,000
B AEREIN HBSE23H Al B2 ALY 2,800,000 ¢
WD SSHeS (SIS =235 H AT-2-1 AFOIB 22l ~1,000,000 &
BEANES (ISS=E25H 22lSHHIAY ADEY| ~17,000 &
SRR S=233 C2-3—-1 X A 0ICHAH ~1,300,000 2
S=235 3 Ad-1-1 HE XA
—ABAMIE| &% 2 AQE 3,500,000 3,500,000 ¥
572,061,000 $
4204 204,774 227,070
oM ET CIMES DA HE 102 * 10,000 100,000 &
OIMES olTs 2B DA 10,0009 105 100,000 &
OETS HE 10,0002 %42 %10 400,000 €
OF=1-!
—ge 8 1,000,0002! 1,000,000 &
®
— 5,500 2 9004 13,950,000 &
124 10,3002 «600 JH+EH A} e 13,830,000 &
5 St DS N
of M=) 700,0008 700,000 &
A
TN =2
<47 40,000,000 &
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o = 202331 AT | 20233 HQic
. AXFEZ Ol At | 3XIZEZ ol A NEED 2 o
= 2 = (A) (B)
© HEHZO| M AIE S0 01210] HAEE 32J1+1,000 30,000,000 &
W UADA HBSE23H A2-1-2 IS EH LS 2
B O MY AIBED & A E2F -30,000,0002 ~30,000,000 ¢
@ X HESE=25H A3-2-1 A AL SH B2 1,000,000 &
ZoH SIS=25|H RAKY QIMSHY 4% =& ~2,500,000 &
W AEZ2IRN HBSS25H ALRRIAY QST 122,000 &
BOISOHSANS ISS=23H A2-1-1 ML DS -318,000 &
W AIDA (IBSS2 5| H A2-1-2 (ISt R A A BH2¢ ~19,600,000 ¢
EH: 204,774,000 $
4225 635,004 560,004
LHH| © Alaze|gzn2
— WU e JbA Q2 36,667,000 %124 440,004,000 €
© WLES T2 1,0008%20,000L 20,000,000 &
® AlEZ AL 22
— 2} = WU T AIJFAH] 10,000,000 %1204 120,000,000
ZOH USISS25|H QENA DAL BL| LY 1
—LhgbY| BHe —20,000,0009 ~20,000,000
B AEREN SSE23H ALBS2D2 L 90,000,000 &
B AEREIN SSE23H ALBS2D2 L ~35,000,000
S ALRIH HESAS=23H AILBAIL 22 20,000,000 &
£ 635,004,000 &
4226 1,758,500 1,958,000
PP O\ ===
— DUAEIIRZ9 65,500,0008 1204 786,000,000 2
® Az AL 22
— 2t = ®JI2 10,000,0002 %1242 120,000,000
® Agpeezna
— WU MBS Q2 20,000,000 %1204 240,000,000 &
© AlEZ A 22
— 2t = ABIAEE 7,000,0009 63 42,000,000 &
@ AETRM HBS=23H ALD2IR2D2 ®IIZ 650,000,000 &
@ LIS AI M2 M HSAS=25|H AlLZ AL 22 120,000,000 &
WAERRIN BS=E23H ALRIR2D2 ®II2 ~180,000,000 &
BOS ALY HEFS=250 ALRAIL 22 -26,500,000 &
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"EEEREEELEE 7,000,000 2
1,758,500,000 &
203,743 236,618

@n4sEILA AAWE CON HHIA 15
—1°8t7] 10,000,0008 * 2517 20,000,000 &
® TH2 OI8X MHIA 23t
—SMS AFE 2 121 *60000 720,000 &
® EMSZ £ 220,0008+1003] 2,000,000 &
© DSHAMY L H2MYA 2
—‘ﬂ%@&%*(zom.02.25~2024.oz.24) =3 M| KT 33,264,000 &
— DA A(2021.02.25~2024.02.24) H 23| & u| LG 33,264,000 &
—VPNZ KT 5M 2JH3] & (& - 2)* 55,0008 * 1,320,000 &
— B2 A HIA(SMS)' 2,000,00021 * 102 20,000,000 &
—EHOIX ZQIZAHIA 550002 * 1 660,000 &
@DLXI OJiHR
—QI AR SBIS A THIE 5,000%100 500,000 &
O\ EEIR=S=ine=
— DU, AYYS23 3.750.0008+1242 45,000,000 &
® 3LRMRIE S S4
25 =71 2.6008 + 2002 * 122 6,240,000 &
— U 28 5002 * 2,00021 * 128 12,000,000 &
— AT 50008 * 2024 * 128 1,200,000 &
— g2 % J|EH 50,0002 * 53] * 3,000,000 &
© [LeiE] 245 2H2 5§I*2]H§*7|*5,000% 50,000 &
~HENE S 9B L S 25 1,500,0002 %18 1,500,000 &
® 2AE WS £ 50002 * 603 * 294 &) 600,000 &
@S Al
— ®523 U AFHUWRE 1,700,0002+122 20,400,000 &
— TVRLAIR 2 75,0002 128 900,000 &
— SBLER 2,5002*202 50,000 &
— S L ER 15,0002 2021 300,000 &
©® THB(NE) Z2MUIA 22|
— SMSE&H| 40,00080%120H 2 480,000 &
—JIEYER 150,000 +23| 300,000 &
® bl 22 32(+1,00021%3,300 9,900,000 #
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— 9@ 24| 35,0002 70,000 &
— CON AF22 12742 * 1,100,0002 ® 13,200,000 &
—OHUNEM AFZE 1242 * 825,000 9,900,000 ¥
BE2H HES=S23H SAXY SAH| 4% =3 ~8,000,000 &
B=HDER WBS=25H DI-2-1 92098 ~1,000,000 &
BEHDER BS=235H D1-2-2 20HS ~50,000 &
B USSR (B S =25 H A1-2-1 AHOIH -20,000,000
BEANSY (SHS=235H Al-1-3 AQIE XY 2,000,000 ¢
BSRESH HSAS=235/H Ad-1-1 HEX ~5,000,000 2
OSSN WS AS=2 5 H Ad-1-1 BEX ~700,000 &
W Ois Dty e AS =25 H A1-2-1 AHOIH 75,000 &
W OS2 Dy e AS=25H D1-2-1 2 =0 ~400,000 2
203,743,000 #
4208 278,911 198,717 80,194
MMZ202 © MEH 2K 5 2E O
— OHBHEIZF XI5 28 2131 H]: 13]%300,000 300,000 €
@ /\IE|/\I—DI—
—MISMAECI A 30|35 ¢15]H| 300,0008 %% 13] 300,000 &
—t2ALCHElE| ¢13]H| 100,000 %9413 100,000 &
©® Z0Yy L HAHY
—MIfs ME AG AR 0[5 2131 200,000 200,000 ¢
@mAsSINBA JIte o5 ¢35
—CHEtm At L MIE &2l5/Hl 300,000 300,000 €
—THE = AACTLE 2 34| 300,000 300,000 &
—M=hEt0l2 Y 2 5/H 300,000 300,000 &
@ JISDMAZ &1
1 2 JISH 8212 593
— 319 BOl3IHl 1,200,000 «3J4 S 3,600,000 ¢
— 22U #2l5/H 00,0002 *1HEHH 600,000 &
© HAC2ZZOHSAAY
—013|H| 22 500,000 500,000 &
© BIR[YSATREXEO|5| o5t
—2,000,000 2,000,000 &
@& 39/t
—St2 AL IS D E &S 9/ 3] 3,000,000 3,000,000 &
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4i|‘—’|_c—%'>' )mw&** 3i+$%4 )01|&°ﬁH T INEEP 29
A B

—HAMEEL NS E S5l 1,200,002 1,200,000 &
~HE M EEL RS2 D8 2l 3l 500,0008 500,000 &
—EHUCHS U NHAWSLTAE IS 1,000,0002 1,000,000 &
~5 M X8 25| 600,000 600,000 &
—& oL 5| 240,000 240,000 &
—HIYSREEZE Sl 1,000,0009 1,000,000 &
—st2= 20| A8k {&HE 9| 3] 1,000,000 1,000,000 &
® MBI 15|
—013H| 1,400,000 1,400,000 &
OEEEEE

—SMAK 2 W4 |5 o5/H 32+200,0008 600,000 &
O REE BRI
~EEEXAME 223 015/H| 150,000 150,000 &
~ EUMSENANE 22825 o436 200,000 200,000 &
— t=04stE 285l 3/l 300,0008 300,000 &
© Chater2 2 & st 50,0000 500,000 &
® BHAALR 2B BO/5 B
— & o3 2154 300,0002 300,000 &
® FHATAAL &olgl 2ialy]
— YL N OIS 3/l 200,000 200,000 &
— SR A XIS 3/l 300,000 300,000 &
® B22HDIXE 3 215/H| 300,0008 300,000 &
CREEER=ELREE:
—FM IO DEA B2 XL 2l 5] 0151 H| 150,000 &
—F 20t WO X 78t A 22 X+ 8 ©| 3l 1 3l 100,000 &
—EU XSRS 05 5 200,000 &
—H 20t MM & 8 0| 3 o1 3l 1l 300,000 &
®3I-Q|:H%I-|Ro:l O|$|

—&=20)SHRE 2l 3l 21 3lH| 300,0008 13| 300,000 &
@S2I NV DFE /3
—E 20 DB DFE O3 2156 300,0002%13] 300,000 &
® 253 2y F3l A3l

— 82282185 213/l 200,000 200,000 &
© YstelR2o(UstBelY 24 8ol o)
—&2l3 213H] 1,500,000 1,500,000 &
© DSAABIH A

45/125




[

Jo

1=
oot
I

20233/ MG = | 20233 —
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— 893l ogltl, #2I|S WSt W=3| 500,000 500,000 &
© WSAAB A
— 893l A3lyl, WSAMIALIXE 23 300,000 300,000 &
@HAZOHCHE B Ol 3

—H=ZONCHe & 23] 100,000 100,000 &
@st= et AtSl S AtE 23|

—st=a st Atel S AFE 228l 2,500,000 2,500,000 #
@st=a et A2l S A & AR 2 3l |
—et=lst At SAIE & AHE 2l 28] 200,000 200,000 &
© dMEEH 2 2SH(HASUS)
—LAEHHS H3IH]" 330,000 14 330,000 &
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o = 20233 SIS | 20233 =
AZPEA GlAFY | 3RIEY O Ao AE2H o4

& g = (A) (B)
CENTNEEFEE I ERE S
—THHIT OIS DA =] AlHl S 10,0002%13% «403] 5,200,000 2
~NHTOIE DA MA L ADEH 1,800,000 1,800,000 &
® WEILY 2%
— 2EH JEE 3002+9,0009 2,700,000 2
— ZAUA IS E 1,4002+9,000 12,600,000 &
— HIZIMIZA! 1002%10,0002 25! 2,000,000 &
—ob)|, BY|, B&E, i+s S 29 1,000,000 &
_ o). ®H| S 2K 24 1.000,0008! 1,000,000 &
— THEQGA A AQDE 300,0002 %25 600,000 2
—MEGA ME SSH DEH S 300,000 28] 600,000 2
®IENALES
—(JI=EDYAS =X 700,0008 +12H 25t ])+(E3 21,000,000 &
@ OﬂAﬂiLSriF%
— SIS, B X H| 300,000 #1252 )| 7,200,000 2
® CCMD
— Z=H| Y AlAHI 3,000,000 3,000,000 2

® ®ZAOIL}

— ZIBHY| 440,000 *25 7] 880,000 2
® FAAOIL}
— ZBH| 320,000 %257 640,000 2
® FREHTR
— ZBY| 250,000 +67 B8t 3,000,000 &
@ j|%g\l—/\H A|_|OI/\H AE‘_lng
— AlH| 8,000 250 x33] 6,000,000 2
— ZHAIH| 2,000 %250 33 1,500,000 &
— Z#H| 1,500,000 1,500,000 &
© &NE =33
— HD2ARS| HARIBY| 200,000 1282 4,800,000 &
® 25HAr
— DEIAFSCH HAIRIS U S SH| 00,0002 *23] 1,200,000 &
—WEZo XY 25 204 8,000,0002 8,000,000 &
— FHEZZ 01 AlY| 8,0002+302*103] 2,400,000 &
—MEZ0 2401 L ZTAE| 2,400,000 2,400,000 &
@A EAR2 T2 )2




o = 202389 | 20233 HQE
ATIEY Olare | BXFEZ Of o aE23 2o

414 8 =
—Zom28 X4l 500,0008+30E+23] 30,000,000 &
—S2Hl, M= S 300,0008 23] 600,000 2
OSEZANES
—==Z A2 SH| 1,000,0008 38 3,000,000 &
—2gHl, 848 S 600,000% 600,000 2
@ASZAES
—|2ZAES XIRH 1 400,000 +4E 1,600,000 &
—2Hl, 848 S 600,000 600,000 2
@A ALt S
—THE 22l 30,0002 %3002t A 9,000,000 &
—B{ A= 1,000,000 1,000,000 &
—2Hl,AH], 849 S 2,000,000% 2,000,000 2

SEXNS HASIHESHSAEFNAT 2]

—Z2 02 X2l 410,000 410,000 2
OSSN 2
—S= = 100,00094%353 3,500,000 2
—ZAFED| K= 20,0008 +3004 6,000,000 2
~BEH & Al L SYHI: 50,0008 %352 523 3,500,000 2
—JI 21 = A} 700,000 +43] 2,800,000 2
—ZJ| 2 Al 600,000+5E+23] 6,000,000 2
—ALEI 2 AFZHS AR E FI 1,000,000 1,000,000 &
—29Hl, 5128l WA S 2,000,000 2,000,000 2
@B 2l = A T}
—CHAFES GHEIZ ATEH X1 © 700,000 2% 23] 2,800,000 &
@SR A S8 A
—# A E 2,500 +1,0002 2,500,000 2
—2HAITI R 300 +5,0002 1,500,000 &
@AHBHS 2T HUSE LS
—Te|=N PUEXE YN &9 26,000,008 26,000,000 &
~Te| =M FOHH0iH] 505+100,0002 5,000,000
—Ze|EF 222 2,000251,5002 3,000,000
—Z2IEd 2T L T IAZH| 26,000,0008 26,000,000 &
—SHATIRICHHIF QAN SOt # AL XI 2 HI 42E%450,0 18,900,000 &
—SIATIX SR ERAIY HBER A X R B S 8,000,000 2
@412} 22| | 0] & K|
—22| MEI01& |4 8,000.0008!+13] 8.000.000 2




@SIMAEX R AANASHS2AS T2

o = 202331 AT | 20233 HQic
. AXFEZ Ol At | 3XIZEZ ol A NEED 2 o

= 2 = (A) (B)
—QelAEN0l & ST KFAICHAl K121l 18K Sk *450,000) 8,100,000 &
—Q2IAEI0l& AlAS ALAMH| 3,000 10,0008 30,000,000 &
OE N I=S E- S L]
—SHA TR EHH A1 KI R QIR 2 X2 M2 DY 7,000,000 &
—SHATIXICH AKX MBS U SHSE XY 3 3,500,000 ¢
—SHM RIS A HKIY A H K SH| 502 #45]+25,0004 5,000,000 &
@stA =X XY U AL X
—ZEH|9 25| S| 10L*50,0009+23) 1,000,000 &
—ZQFHIAE EYINR HIE L A 1,7002%5,000 8,500,000 &
—SIE AL 2 X| X 2B E ALK 2] 147052 %1,280 35,840,000 &
—St2sAL 9 =X XD HSHSIAF AAME] 10,0004, 18,000,000 2
—SISSAL U =X KR HSHEISAF 2HAIH] 2,000 1 2,400,000 ¢
—StE S AL = X K 2 AIA A X K I Z e 184 21,600,000 &
—HEHA 28 U S5ty A 24| X2 1817]%250,00( 250,000,000 2
@5rAI3| 204 A2 stAY
—SHATIXIEH AR5 U SHQR3| XIH| 40H500,0 40,000,000 &
@S—PIPES 014 2 AF A A ES
—2UAFR 7,00021+80052 %25 ]| 11,200,000 &
—= 41| 10,0002 %8005 23t 16,000,000 2
@M 23 XIHAIS] AH (A QISH 04l
—AlH| 12,0002 %40 «23] 960,000 ¢
—2FAIH| 600 *2,0002 %23 2,400,000 ¢
2151 &, AFR Z=H|, 3] 21 HI30Z 10,0002 +23] 600,000
—29H| 1,800,0002%23] 3,600,000
@ZEH X BLT2
—Al / 2FATH] 1,500,0009 %23 3,000,000 &
—29H|EA, DEH 2 EH|, 88 2 & H|S5,000,000%23! 10,000,000 2
—HMZOIM LA S YA 22| 5,000,0002 %23 10,000,000 2
@B s T2
—2994| 500,000 500,000 &
—8 Al O ZEMPCAFELH] 10,0009 +20021 %33 6,000,000 &
@OR29I2 B=H| 100,0009 <5 «25¢ )| 1,000,000 &
@FBOINBE AL
— AIH| 6,0009«400 2 *15A! 36,000,000 &

S %H| 500,000 254 )| 1,000,000 &




o = 20235 S | 20235 HAE = oo
ARbEY Ol o | 3XHEY o4y . ME2 29
& 2 = (A) (8) ot
—2Z AKX 22l 5,000 %702 350,000 &
—01 4 2 4| 10,0008 %7021 700,000 &
—ArEH| 10,00021%7021 700,000 &
@UAHDA2D 2M|
—ZEH ZH| 1,040,0002 1,040,000 &
—SB Y| 4,224,000 4,224,000 2
—DMZ 24| 148,5002 x25))| 297,000 &
21l 100000822 200,000 &
@HH}\%}\ﬂmHI-A_”, |.j|
— Z=H| 100,000 %254 200,000 &
@XAAE 2B AL DE TR I (Trinity 22 AL DS
—AlH| 7,00021%2163] x5 7,560,000 &
—22%H| 70,0008+2163] 15,120,000 2
@_;._%i_” \:!I|:O4 HE]_EH
—224| 1,500,000 25t 3,000,000 &
OXSAIE 2ot T2 2 (WAl HIAl)
—22%H| 20,00081%200% 4,000,000 2
—XI2APS1 181821 32 & Sb1100,0002+251+25}) 400,000 &
—ZEMIIX DT Al2FAIH] 12,0002%200F 2,400,000 &
XISASI LSS DRI T Al DAL 12,0002 4200 2,400,000 &
—ZEX JHXI 2HAlH| 2,00081%200 400,000 &
— X % AFS| AFEHE 21| E 9 T4 T HI & 135,000 213021 1,050,000 2
@S NHASI S Al T2 2
—0I 24 AL 44| 10,0002 *350% *23] 7,000,000 &
—2HHI(AL], 25,2 E,5] 26| S)6,0002 350 Z #5414 23,500,000 &
—8H 4 M I Ab 0] RH| 10,000,0008 10,000,000 &
© BIHHYS 2le sEDS SA
Y ESES FIs sED3 24 XA 2,000,000 2,000,000 &
© S2RLOITS A 512154 B2 600,0002 600,000 &
© WHE D PRACH AT
=8t 14,0002 x50 %22 1,400,000 2
— AlH| Y 2FAIH] 10,0002 %50 +63] 3,000,000 &
— ZI&4H| 600,000 600,000 &
© WAHSD AT HDAIER
— AlH| 2 2FAIH] 10,0002 %20 +153] 3,000,000 &
— XIsHH| 500,00091+25¢D)] 1,000,000 &
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o = 202331 AT | 20233 HQic
. AXFEZ Ol At | 3XIZEZ ol A NEED 2 o

= 2 = (A) (B)
— W=4 A2l 300,000 %23 600,000 &
& st sy e AS=235H D1-
—QI=oIQE M B2 25 HIE 9,800, oooq 9,800,000 ¢
W AFSI S AMHIE UHBFSZ 25| H C2-2-2 XIS AHS| = AL
—0{HH Ol 8 AF XIRMH| 5,000,000 5,000,000 ¢
W AFSI S AMHIE (S =235 D2-3—1 SHASAIZ R
—BHQI=ALEE THA XIRH| 3,500,000 3,500,000 ¢
@ M HEBIS=235|H E3-2-2 s
—X2|EX 232 0H| XY 10,000, 00004 10,000,000 2
@ st EH (e AS=235H DI- =3
—9|Z0ISEM BIR25HAIE 6,000, 00004 6,000,000
WS (SIS =252 E3-2-2 M8
—HE 2 S5t A 224 XY 110,000,000 110,000,000
—0ilHICHE K19 30,000,000 30,000,000 &
B Z2%0SAT HSS=235H =-D3- -600,000 2
B USA =225 A2-1-1 BHA I’Lq”—'uije ~4,651,000 2
CEmEN tHé%%aiDﬂ C2-3-1 XIoiolithAl 23} ~105,000 &
WOSEa ESS=25H A2-2-1 LI AAATHA ~21,713,000 &
B ASIEAE (3 S =253 Co-0—1 MR 0H AL ~3,979,000 &
B AISI 2 AMME] HBIE =237 C2-2-2 mw@%m ~4,826,000 2
B AISIZAMME] HEIE=23]H C2-2-2 X ~756,000 2
B AISI 2 AMME] HEIE =237 D2-3-1 oH9|EA+u§_ -850,000
BSOS MIRAME (B SZ223|H B4-3-2 FOHEHAE ~9,804,000 &
W SOHSH A RME] HEIE= 23| B4-3-2 FOHEH A -13,000 &
(W A3 0] & E'?é ol &N B3- 1—1 J@égag%z ~25,000,000
W A0l A B2 Ol IR B3- EXT aﬂ%%i 25,000,000 2
mos DLEH% AR EH@%%DQW A2 1-1 x*x =il
B FEO| A AIS TR AR KOOl A — oz,o‘ 5,102,000 &
—2EHMAHBAI E 5,400,0002 5,400,000
WMDY AE B S =254 B3-3- E: ~96,000 &
WS 0sH HeFS=235H Di- = ~1,000,000 &
WS 0sH e S=23H £3-2- y
—22 M= 5,950,000 5,950,000 &
s D2A HEAS=23H B7-2-1 5,640,000 &
s D2A HEAS=25H B7-2-1 8,423,000 &




o = 202331 AT | 20233 HQic = oo
- — AXFEZ Ol At | 3XIZEZ ol A T NEED 2 o
= g = (A) (B)
EAI: 1,206,960,000 &
4329 882,438 945,910 ~63,472
JIEFEHA 2 HI ® 31EA S 22 n¢

— B1EX L HA ZE S 9,500,0008 « 8IHEY 76,000,000 &
— 25EH 3,000,000 * 84 24,000,000 &
— ®27|24 2,000,0002 * 33] 6,000,000 &
— M&Z DA 100,0008 * 30H 3,000,000 &
— Z2HI% 4,000,000 *33] 12,000,000 &
@ BHAf R AlA HA 2
— 2OIMDILA S HA 5,000,0008 23] 10,000,000 2
@ SHM0H 2 E
— BHAIZEAIY]: 3,000Z%2,000L 6,000,000
— WEAIDY: 222%102%10,0002 2,200,000
— B | 10 #20H*50,000 1,000,000 &
— SRR 13]%1,000,0002 1,000,000 &
— SR 15]%1,000,000 1,000,000 &
— GIHI 2K 32 2023 H]: 13]%300,000 300,000 €
— 0HIZ 2ZH|: 131%200,0002 200,000 €
® O ZEII2A
— AlH|: 8Z%23]%10,000% 160,000 &
— 2HAF EIBHI: 13]%40,000 40,000 2
ORI mE=-1=5
— DIB9S FBH|: 13]%200,0009 200,000 ¢
® alglatg
—AlRIANE B 2| 50,0002 %303 1,500,000 &
© XA Y ST
—THEHM A QEAF 24 300,000 300,000 €
—THEI M AQEAF ETH 8,000 %50 400,000
—W2 2QEA 24 300,000 300,000 &
—M 2QEA ST 8,0002 %505 400,000 &
—HSATA 2QEA 24 150,000 150,000 &
—HME2ACA AQEA ST 8,0002+50 400,000 &
ORI+
O A AEHI T BB 15,0002 %508 750,000 &
—=2 E72 50,0002 %4 200,000 &
—AAIK] ADO| M2 ETH 20,0008%100F 2,000,000 &
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o = 20233 | 20233 QC
ARIZZ OlAMY | 3XFEZ O Arod ME2 2 o

& 2 = (A)
—R2 A2 B0 8,0008%50% 400,000 &
—O & =AM 1,500 +300F 450,000 &
®© Z0y L ZAAY
-0 &= 28l 400,000& 23] 800,000 &
—E2=23 7Y 1,000& 700 700,000 &
—gus S2H| 200,000&*6 Al 2t 1,200,000 &
ORSEEIPNI=]
o &Y 2 THZH 100,000 x8& &H+28H D] 1,600,000 &
© wEY 4
—X0l= o g M & 2| 500,000 %22] 1,000,000 &
—HSEAHEES 2P L 2I44Hl 1,000,000& 1,000,000 &
—SESAY ARIZAK P MMPI 5,800+50%+0il LI Of 1,394,000 &
—Hugdusia A8 X3 S28] 200,0003 2 A1 2+ 800,000 &
ORSIEVIE T RIE!
—&EA =F ZALZ 100,000 *4 Al 2E%63] %2 4,800,000 &
—& & Al =IHBIOI M 248] 200,000& 103281 | 4,000,000 &
—& A & +=IHHI™ 150,000 #93+28H | 2,700,000 &
© wEY 4Y
—AOIZEcHOHE 2+A 13E+3,000& *13=F+23] 1,014,000 &
—AHOIZECtOHE QB &S24 138+10,000& 23] 260,000 &
—AHOIZECHOHE =3+l 100,000& 23] 200,000 &
—AOIZE2t0t ZAtHI 50,0003 %2 Al 2tx15F%23] 3,000,000 &
®JISRoM 2 s}
- WAL & AL 7,0003x70E *4 3] 1,960,000 &
- BIADHOE 150,000 #201+13] 300,000 &
- Z-#=H| 100,000&*13] 100,000 &
- HA=XNEHZ 300,0003 12 300,000 &
® 03t 0I0IX ML 25 23
- & A3 A 7,000&*70E 23] 980,000 &
- HACGHO 400,000 *2CH*23] 1,600,000 &
- Z&-#H=H| 250,000&*13] 250,000 &
- HA=XNEHZ 300,000 28] 600,000 &
- X EE 2,000&*70E 23] 280,000 &
® BHO 2YT BHEL 2ot
- A H==H| 50,000 *50H «32] 7,500,000 &
- dJ|As AN 7,000 +70H+202] 9,800,000 &




o = 20233 | 20233 QC
ARIZZ OlAMY | 3XFEZ O Arod ME2 2 9

& 2 = (A)
- ¢1==214f 200,000 %208 4,000,000 &
® YsYR HIEH
—AlH| 8H #5263 *x341%x7,000& 5,040,000 &
—2HAIH] 8H 52 %63]x2,000& 480,000 &
—=9H| 44 %48x635]+50,000& 4,800,000 &
— = SHILEH0IEH! 65/%x200,000& 1,200,000 &
—H XN S=H| 321+50,000& 150,000 &
@ d=2R dduzesd 32 8H*420,000 3,360,000 &
®Ysye BNE
—AlH| 8H+8Y+34AIx7,000& 1,344,000 &
—ZtAIH| 8 +82+2,000& 128,000 &
—=9H| 44 %78Hx50,000& 1,400,000 &
—SSFHIZLEAH0IE8HI 250,000 250,000 &
@ d=g® 9=Hl € 82 HE S 300,000 300,000 &
®YsYR B L ANFSS
—dl=d 3 88%110,000& 880,000 &
—BHEEl 8 40,0003 320,000 &
—EtBEXlI 8 +60,000& 480,000 &
—AlE= 8%F+160,000& 1,280,000 &
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—QUAl L HICHE! 22 218 JI0H 2 6,900,00 6,900,000 2
—AH N AE 02E SHEH PYH| 8,000,0008 14 8,000,000 2
—ABE ATES 0 USB 535,0008 1} 535,000 2
—Beats Studio 5l SE 449,000 «1} 449,000 2
~HMEIl PY ¥ & 1,400,0008 1,400,000 &
® B2 1,0002 1,000 2
© P& E00|3 S 65 11,077,0008 11,077,000 2
©ERIYVIH S 75" 50,050,000 50,050,000 &
@ DNSH (SASS23|H Al-1-1 BEDIIALDAHE

—DU 2% & S,A4 X, ﬂm?o'm 4,000,000 +10 40,000,000 &

® NEBRH HESSSI3IH Al-1-1 FEIIALOHAL
—DU 28 S8, 94, XY, gm?g Bl —4,000,0002 ~40,000,000 &
W HAHEH HSZ33H Al-1-3 ADEBHAE
—H S $Z -38,500,0008 ~38,500,000 &
W RSSEHLR (SS=38 K Al-2-3 DS S JIX ~8,700,000
B RSSSHLR (S22 S-A1-2-3 LSS J ~220,000 ¥
W RSSSHLR (3S=38K Al-2-3 DS S IIX -857,000 &
B RSSSHLR (S22 S-A1-2-3 LSS J ~7.821,000
B D4SSHUR (SHS=35 S-A1-2-3 SE J ~14,448.000 #




o = 20233 AT | 20233HE = ooy
- — AR O AP | 3XFEZ Ol &Y T AE2H =
& g = (A) (8)
W USSHER WSS=3a A AI-2-3 RS8 JIX ~222,000 &
W RSSHLR HSS=28H S-A1-2-3 DS S J 22,601,000 &
W RSSHLR HSS=28H S-A1-2-3 DS S J 23,898,000 &
W RSSHLR HSS=28H S-A1-2-3 DS S J ~3,639,000 &
W AE22H St S=23 A Al-1-1 HEI|AILOIAE
—JISUERASE ST Y4 AIAY IHIIT 2| 351,500,000 &
W RSSSHLR HSS=38H A1-2-3 RSE IR 49,000,000 &
W RSSSHLR HSS=38H A1-2-3 RSE IR ~3,769,000 &
B OS2ERH SR S=28 Al-2-3 RS EIIXH)
—ABAMIE] & X 2@l JIHJI RO Yl 18,368,000 18,368,000 &
B OS2ELH SR S=28 Al-2-3 RS EIIXH ~10,000,000 &
WSS SR HStS=35) S-A1-2-3 DRSS J 1,834,000 &
WSS SR HStS=35) S-A1-2-3 DRSS J ~10,000,000 &
WSS SR HStS=35) S-A1-2-3 DRSS J -682,000 2
BHH: 1,696,215,000 &
1315 669,007 710,501 41,494
ZOIHIZ 0|

® H2EX 1,000 1,000 &
® HUNLLS el B2 HIE 22| 2,000,000 2,000,000 &
® 22+l 344819 AIAE 2,000,000 *0CH
® 220l 3145|918 = E2 2,500,000 *00H
@2FZI| 7Y L OO
—®X250(J| 2 2 T406] 5,000,000 5,000,000 &
@ HHBAAY PE(RXET)
—#HBRIAIAL TF 400,000,000 * 13 400,000,000 &
® SIS A OlA #HHIZ 2EE 7 1,000,0008 * 4 40,000,000 &
© AYDAATA L AREN S HIE 2 4,000,000 40,000,000 &
®© #IHIZ SZ2E, 2UH S DA 28I 55,000,000 55,000,000 &
® | DA Rl 15,000,0002 15,000,000 &
® NE=o NFeH Zo2e
— diLherd] 2| 5,000,0002 10CH 50,000,000 &
OFPIIFE=S-"F-F=1
922 HEEH S S &I| 13042,000,000 26,000,000 &
OFPIIFE=S-"F-F=1
—All DX IR P Y =% BIE WAl 10,000,00¢ 20,000,000 &
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o = 202331 AT | 20233 HQic = oo
- — AXFEZ Ol At | 3XIZEZ ol A T NEED 2 o
= g = (A) (B)
“DaoIAl O HESA AL 22 1,000,0008 *34 3,000,000 &
—DAIAl FJ|23Re 2,500,000%54! 12,500,000 2
—HEE LEZ 291,500, oomth 3,000,000 &
m HAEEY [SIE22 35U Al-1-3 ADIEATH
—DSAOIBIOHMME] oIS %6HEEH“' AF A AE 38,500,000 &
@ SHIHAI100E 2 (HEIS =23 H C2-3-1 X0l
—HEAHIDILHA & II8IZ 500,000 500,000 ¢
BZ9H (8IS=25H HoREEe2Y MU= 500,000 €
CNEEEPS EHi%%agm AE2RIANY D] ~16,280,000 ¥
WS AIT00E 2 (HBIS =25 H C2-3-1 NHOICHAS -5,000
mEAEES LHo%éaim Al-1-3 AQIE A TY ~31,200,000 ¢
W ZOHS M ME (IS =235 H B4-3-2 FOHEHME ~048,000
OSSN HEAS=25|H Ad-1-1 BE X
—ABAMIE| A% & EIIHIZ0HY 5,739,000 5,739,000 ¢
669,007,000 $
1316 24,102 35,000 ~10,898
b == L] ® X237 U 2HZ Y| 220,000,000 220,000,000 2
@ =21 HEIS=235H NTeADel HSeR ~185,000,000 &
BE2H HESS23H LR 27 ~10,898,000 ¢
24,102,000 @
1317 870,466 865,466 5,000
AL ® THZ N Y 2EX 55
— ZUHA S 3,500 13,0002 45,500,000 &
—2QI M SHEE 5002 +40,0008 20,000,000 &
—HIS A, S8 110E%13,0002 1,430,000 &
—2YE KR 25,0305 13,2002 330,396,000 2
—2UHH L2 31Z+100,0008 3,100,000 &
—2QIYI LB E 6Z+200,0008 1,200,000 &
—FM M Z&BH2DB 95+21,188,000 190,692,000 &
—0l2Y 3Z#14,400,000 43,200,000 &
® TABANE) EATL
—CHsi = YA 4002 *2,50008 10,000,000 &
—CHai= 2QIAl 800A*40,750 32,600,000 &
—FM K E 145+13,382,0002 187,348,000 &
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o = 202331 AT | 20233 HQic = oo
- — AXFEZ Ol At | 3XIZEZ ol A T NEED 2 o
= g = (A) (B)
REE tHé%%%:,guﬂ Al-2-4 CABI =S¢
—&X} 2 DB RS 5% 1,000,000 5,000,000 &
- 870,466,000 &
1318 - - -
G2
- - 2
1319 3,348,000 3,950,000 602,000
HEZOIT A ® JSDHE AFE 1=
— 0ILIR3 SS2AF THZALEE 400,000,000 +1 3] 400,000,000
@ AL HBHEZ25|H Al-1-7 BHASS B
—0IU D3| S=EZAF =B BAFZE -250,000,000 ~250,000,000 &
@ SI2E2H (SAS=23|H Al-1-2 AISZAT-
—HSUHA DSBI2TA LS (IIE) AEZA 3, 3,300,000,000 &
—Z=X}E Z A 500,000,000 500,000,000
B AERRIY EBSE23H Al-1-7 2THAS 2 2H
—0ILIR3E ZSEZ A THEAFZE -102,000,000 ~102,000,000 &
OSSN WS ASS25|H A1-1-2 RIS H AT/
—ZHOJ O}l AF BHEH —500,000,000! ~500,000,000 &
BH: 3,348,000,000 &
1320 28 D& KA =] - - =
1321 28 DA Ao 5 4 - - - EHI: - =
2100 SE2 A & = = =
2110 SRS 2 AL 8 = = =
2111 X 2 AF 8 - - - B - =
HArE = = -
2210 AIIXHQ 2 AL B = = -
0001 - - -
2| Xl 2 AL S
BHAI: - 2
2020 JIEf D& = 1) A = = =
2021 - - -
AEE2ED
BHAI: _—
2229 - - -
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o = 202331 OIS | 20233H o= N
= AR ClAFY | 3RIZH Ol AHH C(’A_g)ﬁ = o
& g = (A) (B)
JIEF DA L RH O Al 2
8 - =
It 2 X = & A 111,298,233 111,154,624 143,609 -
ESINERE | - - -
1100 DI L RE RHAH - - -
1110 - - -
SEx2
8 2
1120 - - -
JIEtR S XA
8t 2l
2100 JI LSS - - -
2120 - - -
VES=]
8 2l
2130 - - -
L2
8 2l
2140 - - -
JIEtR =LY
B 2l
2 X == K 111,298,233 111,154,624 143,609
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